6™ Grade EOG REVIEW

1. You bought 1;’- of a yard of fabric to make 3 2. Which expression has a value of 16?

scarves. How much fabric will you use for

[(3x4)-(2x5)]+1
g: each scarf?

3+4[(2x5)+1]
3+[(4x2)+(bx1)]
3x[(4x2)-5]-1

Q 6 O O

L - —_
3. A new neighborhood is being built on. Each | 4. Cups are sold 6 to a package and plates are

of the 9 houses are being built on 1 3 acres | S0!d 10 to a package. ]Ef you gedr] 30 hove ‘rhe‘
4 same number of each item for a party, what is

of land. How many acres of land are in the the least number of packages of each you
neighborhood? need to buy?
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D. Mei has 15 oranges, 9 peaches and 18 6. Benji and his four friends split a pizza. If
pears. She wants to put all of the fruit info | the pizza cost $24.15, how much should each
baskets with each basket having the same person pay?

number of pieces of fruit init. Without
mixing the fruit, what is the greatest number
of pieces of fruit Mei can put in each basket?
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(7. Solve for x. 8. What is the surface area of a cube with |
side length 3.5 cm?
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9. Consider this expression:
8g+6h+3k+7+h

How many terms does it have?
What are the variables?
What are the coefficients?

What is the constant?

10. Each week, Carlos deposits all of his
allowance into his bank account. If he has

$125 now and earns $15.50 each week in

allowance, how much will be in the account in
SiX weeks?

11. Find the Area.

3, 8 in

ur 9

4 in

12. In the United States, citizens must be at

least 18 years old to vote. Write and graph an

inequality to represent this situation if a
represents age.

16 17 18 19 20

S R

13, Office Central sells a pack of one dozen

pencils for $3.49 or a pack of three dozen
pencils for $11.00. Which pack is a better

buy?

15. It T;kes 1;:5 minutes to bake 2 dozen

' cupcakes. At this rate, how many hours would
it take to bake 8 dozen cupcakes?

1

14, Evalua‘re (—1%)0.

16. Write an expression for "twice ‘r;e
quotient of fand g subtracted from one-fifth
of ¢."

17. Evaluate using order of operations.

-3

L5
12

1

4

p—

F

18. The Newman family spent $276 on
groceries one week, $179 the next week,
$212 the third week, and $103 the last week

of the month. What was their average weekly
grocery cost? Express your answer in dollars
and cents.




